Iceberg Analysis Worksheet
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Inferences and Conclusions
Inference #1: Goldilocks felt entitled because of generational privilege.

What does your inference mean and how do you know? (3 E’s: evidence, explanation, example): It
means that because she’s white, goldilocks thought she could break into the Bears’s home, vandalize it
and face consequences. She destroyed their property, ate their food, made a mess, then had the
audacity to fall peacefully asleep in their bed as if she had that right.

How does the author’s style support your conclusion?: The author’s use of punctuation reveals a
complacent, matter-of-fact tone from Goldilocks. Whenever she narrates what she’s doing, there is no
excitement. The author uses periods to make that clear. On the other hand, the author uses exclamation
points to reveal the shock or disbelief of the bears.

Inference #2:

What does your inference mean and how do you know? (3 E’s: evidence, explanation, example):

How does the author’s style support your conclusion?:

Inference #3:

What does your inference mean and how do you know? (3 E’s: evidence, explanation, example):

How does the author’s style support your conclusion?:

What else can this inference make readers think about? (Use your Iceberg Analysis Model): Goldilocks’
assumed notions of morals and/or values were skewed, possibly because of her upbringing. There’s no
way a child her age would not feel awkward about her actions unless she was raised not to feel that her
feelings were the only ones that mattered.



